9 Knacc

DopmMyJibl TOJJOBUHHOIO
aprymMeHra



Tpuronomerpuyeckue GyHKIIAH
IMOJIOBMHHOI'0 APIryMEHTA

. o l-cosa
o 9 2 1+ cosa

COS,— = Gisp™ =T
y 9 2

o \/ 1+ cosa o \/1+cosa

1-cosc



Matematunyeckas pasmuHKa
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1. A3BecTHO, 4UTO Sin O = 25° 0<ac< 5"
Haligure cos 20.
o 1 — cos 2a
2. YnpocTuTe BbipaxXeHue Snog

T
1. U3BecTHO, YTO COS O = 17 "3 <o<0.
Haiignre sin 2a.
2. YupocTuTe BRIpAXeHUe Bl 2o
: p p 1+ cos2a°
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021.23. BrruucauTte (¢ nmomoriibo GopMyJ HOHHKEHUA CTENeHN):

a) sin 22,5°; B) sin %’E;

0O21.11. a) [lano: cost = 3—, O0<tc< g

t . t t t
: —; sin —; tg —; ctg —.
Brruucaure: cos 5 5 g > g 5

JIOKaKUTE TOXKIAECCTBO

1 — cos 4t

021.20. a) sin® 2t = ;>

6)2sinzé+cost=1;
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- ’ CaMocTosiTe/LHAsI padora =
) 5 O 3
a)cosa =——un<a<<—
1 BapuaHT 13 2
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b)sina = -2, a€ (n;?”)

. 31
a)sina = —=0,1,a € (—; Zn)
2BapuaHT 2

T
b = —— e (—:
) cos a 3 (2,7t)

a)Brraucnure sin2a, cos 2a,tg2a,

S - a a
b)Brerancaure sin—, cos —,tg —,
2 2 2
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